C:# Cuatro Sumandos (2 digitos) Nombre:

Resuelve cada problema.

1) 35+11+36+76=

2) 41+55+35+37=

3) 35+39+73+38=

4) 77+58+88+57=

5 62+51+61+62=

6) 68+ 18+ 95+ 28=

) 60+32+41+73=

8 39+90+28+35=

9 31+95+52+37=

10) 46+83+74+88=

11) 59+59+78+37=

12) 36 +62+93+53=

13) 16+82+34+65=

14) 76 +56 + 48 + 48 =

Respuestas

10.

11

12.

13.

14.
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ﬂh Cuatro Sumandos (2 digitos) Nombre: Clave De Respuestas

Resuelve cada problema. Respuestas
1) =
3B+11+36+76 158 . 158
2) 41+55+35+37= 168 2 168
3 185
3) 35+39+73+38= 185
4 280
4) 77+58+88+57= 280 5. 236
6. 209
5) 62+51+61+62= 236
7 206
6) 68+18+95+28= 209 8 192
9 215
7) 60+32+41+73= 206
10, 291
8 =
) 39+90+ 28+ 35 192 " 533
9 31+95+52+37= 215 12 244
13, 197
10) 46+83+74+88= 291
- 14, 228
11) 50+59+78+37= 233
12) 36+62+93+53= 244
13) 16+82+34+65= 197
14) 76 +56+48+48= 228
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Cuatro Sumandos (2 digitos)

Nombre;

Resuelve cada problema.

Respuestas

{

192 185 236
168 209 215

206
158

280
291 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

35+11+36+76=

41 +55+35+37 =

35+39+73+38=

77+58+88+57=

62+51+61+62=

68+ 18+ 95+ 28 =

60+32+41+73=

39+90+28+35=

31+95+52+37=

46+ 83+ 74+ 88 =

10.
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